‘fe1ded paIsaAul
W 9Y] JO JueweSeuR 19330q 03 PIINGLINE 9q JOUURD ISAOWIM] Ul jusurascidurt 9y ‘9sed 9y} mw wEM Mwmg
.(m,umm,mm POXI] 10U SIINP3I [DIUM ‘S}9SSE PaXT] JO U0NRIaIdep 913 JO JNSS1 B SE 9SBRIIUL UBD 1DA0UIN] [EdED S, WIY Yy

s18888 Paxid

uswaiinbal
endeo Bupliop

$1509
BupesedQ

fendes
palsey}

| eweixey | 1gep 40 1500

X8} 810487 J XE] pUB 1S8181U}

s9[ES

Xe} pue 1seisiul
alojaq sbuiwieg

wiBew yjoud Bugesado

Aunbe sleumg
jendes paisen]

onel BINONIS
onel 10849 XeL oijel 1500 [BlouBUl ﬁ/ RIVEIVE]

| : |endeo paiseauy = 185104
_ Xe} pue 1seiaut ;
Joyduinus ; sBuiuie :
ooye xeL abeionsi jBioueLl4 Q,&mn luieg “
{edes paisaaul Uo uiney

¥

Ainba sieumQ
xe) joyje sbujuiey

endeo paissauy
B i

sBujuieq aiojaqg sbuuieg
xey Joye sbujuieg xey a.0jeq sbuiuieq

Jsaouany fended

=30d

Auinbe uo wmey

— ( . . "A)inbg U0 UANIAY JO SIALQ YL L' LIGIHXT

yIoaowamn] eyded 12udiy e %mg pardnos uiSrew Sunjeredo 1931394 B AQ POsned ST
TOY Ul JueuoAcxdul 9] JBY) SIIBOIPUL HGIYXS 9], (39781 XB) SAT0S]9 SIOMJLISIJ
SO u H.Mozum@mw e 10 Jordnnu 95e1oas] [eLURUY 19431y B ‘@ouswiojrod Surjerado
wms.owaaw 7O 9UWI0OYNO 31} JuSwA0IdWI [[BWS SIY ST ‘G007 Ul Jusd1ed Z°¢T 01 £00T Ut
Jus019d m.g WOy PIsEaIdul 3] 16007 U OV 01 €007 W FOY S1edwo) g uwwﬂmm
. A 113ST 0 2INIONIIS SY] SUIEXI MOU UBD J
ur umoys ‘Ayqiqeigord s1030qmmsiq SO ¥ o
£o) Aem oY) pue g0 PULYSq SOLEI 9AT 91} Jo uoneIuasaider [etojord e sapraoid
2°6 nqraxs “HIN0N URy 1m0 ST Xe3axd ‘ouo uet) 897 st 1t ] 1]y speedxe
mom. xero1d ‘9u0 ueyy 1918218 st rerdnnur ofeIeas] [erouBuy 93U} JI ASNOIAGQ)

Tondnnur a8e1049] [euell] X YOO8 = HOY Xe1eid

ST UONIIM 90 UED 7T'C nonenba

(ZT'S) (et Xu} 9ADOIYH ~ T) X 101

“3HM 9 URD ()T°G uorjenbs ‘sny ] (9
‘pue Aynbe uo wInisi uo UOIIBXE] 918,

are onel sanjoniis fer
= Jardiyn

erdnnw sfeisas jeou
[[e1240 s31 uo Aorod [erouBU] SULIy &
UL "(7°G uonenba ur HH10y) xey a105:
-iqeagord Surersdo s, ULy oy; 0] [enba
-1o9p Sunerado pue Surseaur s Ly ot

oy} ur A3Nbo  SIoUMO puUR I0jRIoWM
-TWOUSP B PUE I0]RISWNU B Y10q UI 1
‘safes I1gd Sureoued Ldums 4q su
I¥d o031 1enbe st 01°c uonenbs jo apis

RE:C) 1mbs sumQ 1
X % =
Lvd [ejides pajsaau] 1

(0179

1S01DA
‘prEmIoOnySEns ST A1mbs uo uIngaI s,
UL (LIL/IVH) 01l 30950 Xe) 313 (G
[erouedy oq (%) (LI9d/19d) omer ¥
Ioa0uIng jesse jou 10 [ended oy
943 (1) :Qamba o winjaz s ULy e 10917e

vV 40 34N1oNYLS IH

A3mbas U0 UIM3aT 1 9STRI [[IM WLIL o)
S11 Suronpax Aq 'syea1q xe} JuedyIuST
I9p1suod pmoys 11 ‘Tesodord jusuigse.
-sod se £[1e3 Se SINIICRI] Xe] SIT 9ZIWIT

PIp Inq 9JeI X8 S, JH poonpal sSuruie:
SUOIPSLIN, *§* ) -UoU Ut PaSieyd saiel
9AT}09xS I19M0] s Auedwod ayl jey] S9)
911 snsIvA Juadtad £°9T) Iomo; yonur

P S -



FINANCE FOR EXECUTIVES

Note that IBM’s effective tax rate is close to the statutory rate (30.2 percent
versus 35 percent), whereas that of HP is much lower (16.7 percent versus the
same 35 percent). HP’s annual report indicates that the company’s lower effective
tax rate of 16.9 percent was caused by lower rates charged in non-U.S. jurisdictions
where the firm operates. Taxes on foreign earnings reduced HP’s tax rate but did
not affect IBM’s rate significantly in 2004.

Our point is that a firm should plan to minimize its tax liabilities as early as pos-
sible. For example, when evaluating an investment proposal, it should consider
locating in countries or regions that offer significant tax breaks. By reducing its
effective tax rate to its lowest possible level, the firm will raise its return on equity.

PUTTING IT ALL TOGETHER: THE STRUCTURE OF A
FIRM'S PROFITABILITY

The previous sections identify five ratios that affect a firm’s return on equity: (1) the
operating profit margin (EBIT/Sales), (2) the capital or net asset turnover
(Sales/Invested capital), (3) the financial cost ratio (EBT/EBIT), (4) the financial
structure ratio (Invested capital/Equity), and (5) the tax effect ratio (EAT/EBT). The
relationship that ties these ratios to the firm’s return on equity is straightforward.
ROE 1s simply equal to the product of these five ratios:

ROE = EAT (5.10)
Owners’ equity
_ EBIT y Sales y EBT < Invested capital o EAT
Sales  Invested capital EBIT Owners’ equit EBT

The product of the five ratios on the right side of equation 5.10 is equal to EAT
divided by owners’ equity. You can check this by simply canceling EBIT, sales,
invested capital, and EBT because they appear in both a numerator and a denomi-
nator. The only items left are EAT in the numerator and owners’ equity in the
denominator.

The first two ratios capture the effect of the firm’s investing and operating deci-
sions on its overall profitability. Their product is equal to the firm’s operating profitabil-
ity measured by the return on invested capital before tax (ROICg; in equation 5.4). The
third and fourth ratios capture the effect of the firm’s financial policy on its overall
profitability. We call their product the firm’s financial leverage multiplier:

Financial leverage multiplier =



